Ratios and rates ~ PART A

Al Mulfiple Choice
I Written as a ratio, 1 g isto 1 kg is:
A 1:1
B i:100
C 1:1000
b 1:10

2 The school choir has 4 pianists,
3 guitarists and 5 drummers. The ratio

of drummers : pianists is:
A 5:3

3:5
4:5
5:4

UOw

3 Ofthe 2700 babies born in a year, 900
are males, The ratio which compares the
number of females to males is;

2:1
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4 Theratio 88 : 11 in siinplest form is:
4:1

UORE >
0o
I

5 The ratio 15 min to 2 h in simplest

terms is:

A 1:8
B 8:1
C 15:2
D" 75:1

Name:

A container filled with 1.8 L of wafer
has had 600 mL of water spilt from it,
‘The ratio of water remaining to the
original amount is approximately:

A 2:1

B 1i:2

C 3:2

D 2:3

The value of 72 in z_ _1“"8_ is:

2 12

A 6

B 4

C 3

D 2

The raiib of c!og; to cats in a pet shop is
2 : 3. If there are 6 dogs, there are:
A 6cat§

B 7cats
C Bcais
D 9ecats

The ratio of tennis balls to soccer balls
is 8 : 3. If there are » soccer balls and
14 tennis balls, a correct proportion
stateruent is;

A 8.1
3 n
g 8.3
4 =n
c 8_2
3 14
p- A 14
3 8
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The greater 1atio in the pair 3 : 2 and

If $100 is increased in the ratio 5 : 2, the
answer is;

A 5200
B %250
C  $500
D $550

£ 640 cns® is decreased in the ratio

. 8:10, the answer is:

A 2i5cm’
B 430cw’
c 512end’
D 800ck’

The cost of milk was oncé 80 cents a
litre, it has now increased by one
giarter. The new cost is:

A 81

B 99 cents
C 95 cenis
D 90 cents

‘When the ratio is 3 : 2, the fotal number

of parts is:
A 2

B 3

cC 5

D 6

$5000 shared in the ratio 3 : 7 is:
A $1500, $3500
B $2857,52143
C 3833, %4167
T $3500, $1500

16

17

18

19

20

A grocer has 45 g, 55 g, and 60 g eggs -
in the ratio 4 : 2 : 3. There are 648 eggs
altogether, The nember of 55 g eggs is:
A 144 ’

B 216
C 288
D 324

Betty is paid $11.50 per hour., If she
warks 6 hours in a day she eams:

A $69
B $45
C $33.50
D $23

A particular cricketer scores on average
35 runs per game. In 4 seasor there-are
seven games. The number of runs he
scored would be:

A 77

B 133 o
C 245

D 259

The average speed of 4 car travelling
500kmin 6 his:

A 75 km/h
"B 83km/h
C  88km/h
D 96kn/h
64 km/h converted to m/s is:
A 1.77mfs
B 17.78m/fs
C 1777 mfs
D 1777 m/s




Ratios and rates - PART 8

2 € What quantities are being compared by each of
the following rates?
(@) 60km/h
{®) $2.50 kg
{c) 7.8L/100km

Name:

2(2) What units would you use to measure each of

the following?
(& The speed at which a person can run
100 m.

(B  The amount of rainfall in a certain city.
(& The price of potatoes.
@  The rate at which a tree grows.

€22 Calculate:
(@  the amount of petrol that I can buy with
$40.00 at a price of $1.05 per litre,

()  the distance that I can travel if my car has
a 635 litre petrol tank and travels an
average of 13.9 km / litre.

+ €4} A school is staffed at a rate of 16.4 students per
teacher.
@ How many teachers will be required for a
school of 1180 students?

(» How many students would there be at a
school with 85 teachers?

(57 @ Caloulate Neville’s weekly wage it he
works 40 hours at a rate of $15.60 per
hour.

(8 Calculate the houtly rate earned by Nora
who works 40 hours for a fotal of
$582.60

% ¢6) Express each of the following statements using
a rate in simplest form.
(&) A tap leaks 6 L of water in 8 hours.

&  The cost of an overseas phone call was
$22 for 4 minutes.

7 €7) Lynn earns §15.50 an hour. If she eamed
$139.50 in a day, how many hours did she
work?

- (8) Two litres of juice cost $3.10 while 5 litres cost
$7.50. Which way of buying juice is better
value?

(9 Calculate the average speed (in kmy/h) in each
case. )
@  Anathlete runs 5 km in half an hour,

& A cartravels 500 km in 7 hours.




@

@

Convert 55 knv/h to m/s.

Convert 120 kmy/h to m/s.

Ratios and rates ~ PaRTC

Name:

1 Write each ratio in simplest terms.
(a) 30cmto2m
(& 35103240
2 Ineach of the following state which is the
greater ratio,
(@ 1:20r2:3
(B) 7:40r9:8
{(c) 4:90rl16:81
3 In each of the following decide which team has
the better record.
(a} Sharks won 4 cut of 7 matches while
Tigers won 3 out of § matches.
(b) Broncos won 17 out of 26 matches while
Cowboys won 15 out of 22 mafches,
(c) Panthers won 6 out of 13 matches while
Eels won 5 out of 11 matches.
4 In testing two new drugs, doctors find that

Drug A cured 32 ont of 40 patients while
Drug B cured 39 out of 50 patients,
Which drug had the higher ratio of curing
patients? :




Increase the following quantities in the ratio
given.
(8) Increase 70 g in the ratio 7 2,

(b) Imcrease $22 in the ratio 6: 5.

Decrease the following quantities in the ratio
given.
{2} Decrease 35 cm in the ratio 8 : 10.

(b} Decrease 48 mm? in the ratio 2 : 5.

10

If Ben and Casey decided to share their weekly
pocket money of $15 in the following ratios,
how much would each receive?

(& 3:2

b 5:6

Choose the correct answer.

A square area of 36 ¢em?® was increased in the
ratio of 3 : 1. The new square has an area of:
A 114cem?

B 108 cm®
C  55em?
D 24 em®

An equilateral triangle has been decreased by
two-fifths, If the old triangle had a side length
of 20 mm, calcuiate the new quantity.

Wiite three different ratios in which the total
number of paiis is 12,




Ratlos and rates - PART D Name:

(a) Draw arectangle to represent 2 shaded
parts fo 4 unshaded parts,

(b) Draw full and semicircles to represent
7 full circles to 3 semicircles.

Write the ratio in simplest terms.
() 40mitollL

(b} 20 cents o $1.40

(¢ 500gtolSkg

Is the following statement true or false?

A restaurant cooks 50 000 grams of white rice
and 95 000 grams of brown rice, The ratio of
brown to white rice is 2 : 1.

Charlie has 50 items of clothing; 17 shirts,
20 pants, and the rest are jumpers,

Write down the ratio of:

(a) pants : shirts

(b} jumpers : pants
(c) shirts : clothing

Determine which pairs of ratios are in
proportion.

2 4
® 5710

2 1
(h) 515

7 35
© W

Rewrite each statement as a ratio,
(@) 4cmisioSem

{(t) 7minisio 1 hour

(¢} 5eggsisto2dozeneggs

Express each ratio in simplest form.
(@ 9:18

() 21:14

() 60:20

Find the value of @ in each of the following

proportions.
a 7

@ 5=3
12 6

®) 14 a




Solve the following using a proportion

staternent.

(2} The ratio of radio listeners to TV
watchers is 4 : 7, If there are 500 TV
watchers how many radio lsteners are
there?

(b) The ratio of roosters to hens is 1: 4, If
there ate 8 roosters how many hens are
there?

10

Write a proportion statement and then solve the
problem.

To dissolve washing powder Bill uses 1 cup of
powder to 4 cups of water. How many cups of
powder will he need if he uses 10 cups of
water?
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Ratios and rates —- PART A

H
All Multiple Choice

1 Writien as arafio, Igistolkgis:

A 1:1

B 1:100
/@ 1: 1000

D 1:10

2 The school choir has 4 pianists,
3 gmtansts md 5 drummers. The ratio
of drummers : pianists fs:
A 5:3
B

/O

3 Of the 2700 babies born in a yeat, 900
- are males. Thie ratic which compares the
uumber of females to males is:
2:1

uo@

1:2
3:1
1:3

4 ‘The ratio 88 : 11 in simplest foim is:
A 4

. d
{
5 The ratio 15 min t’o 2 I in simplest
terms is: SR
@ 1:8
B 8:1
C 15:2
D" 75:1

.

=00 e
-zm)-aoa

4

Name: - -—

6 A container filled with 1.8 L of water

has had 600 m1, of water spilt from it.
The ratio of water remaining to the
original amount fs approx:mately

A 2 1

B

'_/é%ii

8

5

The value of 1 in = = E is:
2 12

The Fatio of dogs to cats in a pet shop is
2 : 3. If there are & dogs, there are:

A Gcald

B 7cals

8 cais
/ 9 cats

The ratio of tennis balls to soccer ball§
is 8 : 3, If there are # soccer balis and
14 tennis balls, a correct proporfion

tatement is:
> B
n

3
p. 8.3
P ¢ n
c 8.2

3 M4
p-r_ 4

3 8

N

10  The greater ratio in the pair 3 : 2 and

4:51s:
@32

2:3
C 4:5
D 5:4

i1 It A$0100 is increased in the zatio 5 ; 2,-the
answer is:
A 5200
(B $250
/! C  $500
B §$550

12 1640 em’ is decreased in the ratio
. 8:10, the answer is:
A 215 cm
B 430 cm®

@ 512 cm®
800 cin’

13 The cost of mitk was oncéé 80 cents a
{itre, it has now increased by one

arter. The new cost is:
/cﬁl; 9

09 cents
C 95 cents
D 90 cenis

14 When the ratio is 3 : 2, the total number
of parts is:

/d]’éjs

15 $5000 shared in the ratio 3 : 7 is:
$1500, $3500
B $2857,$2143
C 3833, 34167
D $3500, $1500

UJ

=)

16 A grocer has 45 g, 55 g, and 60 g egas -
in the ratio 4 : 2.: 3% There are 648 eggs
altogether. The number of 55 g eggs 18 -

144
B 216
C 288
D 324

17 Bettyis paid $11.50 per hour. If she
/ works 6 hours in a day she eams:

369
B $45
C  $3350
D $23

18 A particuldr cricketer scores on average
35 nuns per game. In a seasod there-are
seven games. The number of runs he

scored would be:

A 77
133 -
245

b 259

19 The average speed of 4 car travelling
500 km in 6 his:
5kw/h
83 km/h
> 88 km/h
D 96km/h

64 km/h converied fo my/s is:

X 177 s
1778 mifs
177 7 m/s

1777 m/fs
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